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1. 8 x 100 = ..... işleminin kısa yoldan 

çarpımı hangisidir? 

A) 800 

B) 80 

C) 8 

 

 

2. 15 x 10 = ..... işleminin kısa yoldan 

çarpımı hangisidir? 

A) 115 

B) 150 

C) 250 

 

 

3. 39 x 10 = ..... işleminin kısa yoldan 

çarpımı hangisidir? 

A) 309 

B) 903 

C) 390 

 

 

4. 64 x 10 = ..... işleminin kısa yoldan 

çarpımı hangisidir? 

A) 604 

B) 460 

C) 640 

 

5. 4 x 100 = ..... işleminin kısa yoldan 

çarpımı hangisidir? 

A) 40 

B) 400 

C) 410 

 

6. 9 x 100 = ..... işleminin kısa yoldan 

çarpımı hangisidir? 

A) 900 

B) 910 

C) 190 

7. 6 x 100 = ..... işleminin kısa yoldan 

çarpımı hangisidir? 

A) 600 

B) 610 

C) 160 

 

 

8. 68 x 10 = ..... işleminin kısa yoldan 

çarpımı hangisidir? 

A) 608 

B) 680 

C) 860 

 

 

9. 29 x 10 = ..... işleminin kısa yoldan 

çarpımı hangisidir? 

A) 209 

B) 300 

C) 290 

 

 

10. 81 x 10 = ..... işleminin kısa yoldan 

çarpımı hangisidir? 

A) 801 

B) 180 

C) 810 

 

11. 75 x 10 = ..... işleminin kısa yoldan 

çarpımı hangisidir? 

A) 705 

B) 750 

C) 570 

 

12. 50 x 10 = ..... işleminin kısa yoldan 

çarpımı hangisidir? 

A) 500 

B) 510 

C) 600 
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